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For each question from 1 to 20, four options are given. One of them is the correct

answer. Make your choice (1, 2, 3or 4): Shade the correct oval (1 ‘2, 3 or.4) on the
Optlcal Answer Sheet.

A
B

O

BBERZ

- The water cycle can occur in the absence of b

* Which of the following statement(s) abotit the water cycle is/are true?

heat.

The water cycle ensures a continuous supply of freshwater for living

things.

The water cycle involves the processes of evaporation and

condensation.

A only

B only

B and C only
A,BandC




-2,

The family tree below shows the inheritance of blue eyes in Tom's family.

O___- ., { | Legend:

Male without blue eyes

6

{5 ﬁ Eb O ~.Female without blue eyes
b 6 i A | ‘ Male with blue eyes

Tom ‘ ' Female with blue eyes

Baséd on the famlly tree above, whlch one of the fol!owmg statements is hke|y
to be true?

) _ There are 2 fam:lles in each generatnon

(2) Females are more likely to have blue eyes.

{3) Tom inherited his blue eyes from his grandparents through hls parents
(4) Atleast one parent must have blue eyes for the child to inherit blue
eyes. ' -

The -diégrard"'below shows parts of the female human reproductive system
labelled, X, Y and Z. :

Which one of the following statements is true of the system shown above?

(1) The egg travels from Y to Z.

(2) Afertilized egg is released from Z every month.

(3) The sperm fuses with the egg at X during fertilization.

(4) The foetus develops at X after the sperm fuses with the egg.



4. Airis a mixture of oxygen, fitrogen, ‘carbon dioxide and rare gases. Which of
the following best represents the approximate proportion of

air? .
1 HHH // . _ \\\\\\ Legend:
(M i N\ \\\\ egen
‘ i Oxygen
HHHHH : % . % Nitrogen
7 007 Carbon
3) // / : ‘Dioxide
4 87 / / 5 ¥500 a
7 ///////)//’/
5. Which of the following system(s) is/are responsible for breaking down food into.
the simplest forms and transporting it to all parts of the body?
A Digestive system
B Circulatory system
C Respiratory system’
D Reproductive system
(1) A only
- (2) A and B only
(3) A, B and C only
(4) B,Cand Donly

well as the human circulatory system?

A
B .
C
D

(1

(2)
(3
“

Food

Water

Oxygen
Carbon dioxide

A and B only

C and D only
A, B and C.only
A, B,Cand D

1

these gases in the

Which of the foilo,wing are transported in _bdth the -plant transport system as




_.Which. of the following statement(s) about saliva isfare true?

'A Saliva helps to digest food.

B Saliva causes food to be rofled into a ball.
-C Saliva breaks down food into smaller pieces.

D ‘Saliva moistens the food to make swallowmg easter
(1) -Aonly

(2) AaondDoply.

- (3) B and C only-
4 - ABCandD

in the early hours in the mommg, Mr le nottced that the exterior surface of
the: windew of his car tumed. mlsty when the air cond;tlepe,_r was tumed on.

“Wittioutwinding down ?he»’ ...;.f_,ﬂw*tb \mpe the misty wh“‘a"t ;:,'tﬂé he possibly do
to removethe mist? = ° : , '

Turn off the air conditioner.

Slow down the speed of the car. ~

Reduce the temperature of the air condmoner

Wind down the window of the car pamaily leaving a small gap.

A and B only
A and D only
B and C only
C and D only

RERR oom>

Cassandra planted 4 pots of different types of plénts, P, Q, R and S, in her
garden. She counted the number of male and female flowers on each plant
and recorded the information in the table below.

Plants . Number of male flowers " Number of female flowers |
P ' 0 9
Q 3 3.
R 5 0
T s” 4 1

Assuming no cross—polhnauon has taken place, which of the above plants are
most likely to bear fruit?

Plants P and R only
() Plants Q and S only
(R) Plants Q, R and S only
(0 Plants P, Q and Sonly



10.

11.

John recorded some similarities in the sexual reproduction of flowering plants

and animals as shown below.

A

- B
c

D

Pollination takes place before fertilization.
The female eggs are produced by the ovary.

The male reproductive cells:are called sperms.

Reproduction requires both niale and female sex cells.

Which of the above statements are mosft-:lif(él_y to'be true?

EXCURE

A and B only
B and C only

Band Donly
A,Cand Donly

The diagram below %ﬁ'&iﬁsfz-'bérts.bf the human respiratory system.

Whlch one of the following shows the correct movement of the dxaphragm and

Dtaphragm

Rib cage

rib cage durmg inhalation and exhalation respectively'? '

Gigphragm Rtb cage.’
lnh_alatlon Exhajaﬁon 1 “inbalation” | Exhalation -
9 Me\leé Moves 'l.:).iove in and Move out and
upwards downwards downwards upwards
Q) Moves Moves Move out and Move in and
upwards downwards upwards downwards
) Moves Moves Move in.and Move outand
downwards upwards downwards upwards
) Moves Moves Move out and Move in and
downwards upwards upwards downwards




12.The diagram below shows the tiny ﬂabs covered with blood vessels on the
gills of a fish ‘

Tiny flaps covered
with blood vessels

The gills of a fish have the same- function as-the lungs in humans. The gills
have many tiny flaps to

increase the surface area for the absorption of oxygen
enable gaseous exchange to take place at a faster rate
enables gaseous exchange to take place at a slower rate
increase the surface area for the absorption of carbon dioxide

Aonly

A and B only

C and D only
A, B and D only

3383 °0°>



13.  The diagram below shows the blood vessels in the human circulatory system

L Sample Y -
Blood flowing from \ Blo&d fLOWI?tQ to
the heart e e:.a
' I
L__é} J Sample Z
Sample A »

Sample X

Blood samples, W, X, Y and Z, weré taken from different blood vessels in the

bady. Which one of the. following bar graphs is. mgstly likely to show:the ;
correct amount of oxygen in the blood samptes, W, X, Y.and. ?‘» respectively?

L
[€)] 2)
B Amount of: |@Amount of |- .
. oxygen oxygen
3) (4)
7
BAm;}utii of BAmount of
oxygen’ oxygen




14.

15.

Mara goes to the Fitness  Centre every day to run on the treadmill for 30

minutes before heading for work. Which of the following systems work
together to enable herto run?

A

. B

¢
2

(1)
(2)
(3)
“

Skeletal system
Muscular system
Circulatory system
Respiratory system

A and B only

C and D only
A, B and D only
A,B,Cand D

Which oné. of the ‘foﬂewuig shows {he daffefenoe béiween the humaﬂ ‘and plant

fransport System correctly?

‘T‘m transport system — Plant transport system ]
) Does not mvolve a network of tubes | involves a network of tubes |
) Involves the_heart : INo heart-tike organ i
(3) L“'D-oés not circulate continuously Qifculafes continueusly - J
4) t . Does n‘of carry food and water Carries food and water ]




16.  John split the stem of a white carnation and put each side of the stem in 2
glasses of water with red and blue food colouring respectively as shown in the
diagram below. ‘ ' -

it RTELEES U St Cross-section

red food colouring —— blue food colouring

One day later, he observed that half of the flower became biue and the other
half became red. He cut the stem at X and observed the cross-section of the
stem.

Which of the following shows the cross-section of the carnation stem correctly?

(1)
Legend:
. Red
@ Blue
(3)




17.

. 18.

19.

Whlch of the following substance(s) is/are transported by the blood?

&

C
D

(1)
(2)
(3)
4

Water

Oxygen
Mineral salts
Carbon dioxide

B only

A and C only

B and D only

A, B and D only

Adafn, Betty and Catherine each wrote down a sentence about célls as shown

below.

Adam:
Betty:

All organisms are made up of cells.
All organisms consist of one or more cells.

Catherine:  All cells contain nuc{eus

‘Which of the following made a correcf statement on celis?

(1)
(2)
(3
4

Adam only

Catherine only

Adam and Betty only
Adam, Befty and Catherine

Some animals have been classified into three groups as shown below.

Group A Group B ‘Group C
Crab Snake Bat
Prawn Guppy Platypus

Tortoise Chameleon Bear

Which of the followihg are si;itable headings for the three groups?

"GroupA- . 1 " GroupB. - | = Group€ = .
(1) Covered with shell Covered with scales Covered with hair
{2) Live in water * Live on land | Live on land and water
(3 Layseggs Layseggs .- e
with shell without shell - Gives birth
(4) Covered with skin Covered with hair _ Covered with feathers

10




Sally arranged four magnets with poles fabelled A to H as in the diagram below.

A B| ¢|

H
D/
G|F E

Based on the above observation, which one of the following is another possible
arrangement of the magnets? '

M B| E @ ¢ pF
Al F elB Ale H
G H|[Cc D

3) @

11
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Write your answers to question 21 to 34.

The number of marks avatlable is shown in brackets [ ] at the end of each question
or part question.

21. The following are 5 statements which explam what happens ina wate,r cycle in’

nature
A Rain falls.
-B Water vapour rises to the sky.
C Water droplets gather to forrn X.
D Y condensed into water droplets.
L E Z evaporates from water bodies and living thmgs-
(a) Wirite the letters (A, B C,Dand E) in the correct boxes to complete the
diagram below. , - 2]

(b)identify X, Y and Z in the statements given in the box above, )|
X |
Y: _ Score
Z: ' 3

12 .



22. The diagram below shows the male reprodudtive system.

(a)Name the-parts labelled X and Y respectively. . - (11
X B -
Y:
(b) Whichi part of a flowering plant has a s-im'illlar-_funcﬁbn- asY? M

23. The table below shows the average pulse rate of the first 3 yéars of the life of 2
- human being including the time spent in the mother's womb.

Stage Average pulse rate (beats per minute) .
In mother's womb 145 . -
In the newborn | . - ' 135 B,
During 1% year | . 122
| During 2™ year | 107
< Diring 3™ year . ' 97

(a) Based -on the information in the table above what is the relatqonshlp between
age'and pulse rate for a human baby? 1]

(b)Based on the information in the table above, what could possibly be the
average pulse rate of-d 4-year old toddler? _ (1

Score .

13



. 24. Jason carried out 4 dﬂ‘ferent activities for the same duration. He then'measured
his breathing rate and pulse rate for each activity. The results are shown in the

Breathing
Rate
(per

‘minute)

table below.
[ Activity Breathing rate ~ Pulse rate
(per minute) (per minute)
Reading a book 12° 61 -
Walking along the beach 20 108
Walking up the stairs 32 135" |
Running on the treadmill 64 173

(a) Draw a bar graph to show how the breathlng rate varies with the different
activities using the data in the result table above [‘l'l
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Rﬂnniné on the

" Reading a book Walkmg along the Walking up the
: t{eadmill

beach stairs
Activities
(b) From the table Jason noticed that when his breathmg rate thcreases, his
pulse rate also increases. Why i is this s0? ;

=3

, Score
14 5




26 Steve wants to mvesttgate the factors that affect the germmatton of green bean '
- seeds. He put 5 green bean seeds into each of the petri dishes in the following
set-ups. .

. R
moist cotton dry cotton moast cotton dry cotton
wool wool S ‘wool - -wool
Set-up A . SetupB Set-up C Set-up D

He then plaoed Set~ups A and B in a cupboard and . Set—ups c and D m a"
refrigerator. He waited a week before checkmg on his Setaups .

(a) ldentify the 2 independent variables for the __expenment above. o 1]
M.
(i)__

(byHe found out that only the seeds in Set-up’ A gérminateq. What can he.
.conciude based on the resuits of his investigation? {1] -

'Steve repeated the mvestngatlon but he changed the lowttons of Set-Ups C and D.
He placed Set-ups A and B in a cupboard and-Set:ups C and' D ona table next to
the wmdow He checked on h!s Set—ups a week later. -

: (c), Stat,e‘ !he 2 mdepende_nt_ .vanables in the above described experiment. ' {1]
®
(i)
(d) He found out that only the seeds in Set-ups A and C germinated. What c¢an he
conclude based on the results of his investigation? o {1
‘Score _
’ 4

16



25:Peter just ate a bowl of noodles The bar graph’ below shows the amount of

‘digested and urdigested noodles in 5 érgadns, A, B, G, D and £ of the digestive
system over 3 hours.

_ A
Amount

of food %

L

OrganA Organ B Organ C OrganD . Organ E  Time:
Leéénd:’ _ - '
‘P 3
1 ‘ Digested food
' Undigested food
(a) Whatiis organ E most fikely-to be? {11
(b)'Give a reason for..ygpr;‘a_bswer in.part (@). ) {1
| Score
2

15




.27 (a) What. role does pollination play.in. helplng the flowering plant to continue its
own kind? = _ o ‘ [1]

(b) Study the diagram of the flower below carefully:

Based on the diagram above, how do § you think ‘the ﬂower is pollinated? lee a.

- reason for your answer.

Score

.17



28. The diagram éhbws ,2. impqrt‘antiéyétems.-infﬁme human body.

SystemA | System B

(a) Name'the organ in System A thatis responsable for absorblng water from the -

undlgested food. o _ (1
(b) Nat_'ne:thé muscular organ.in System B. . L 11
(c) How do System A-and,System B work together? | {2}

- . Score

18 4




29. Kenny was waiting for a MRT train at the Jurong East Interchange when it
_ suddenly dawned on him that the Singapore MRT: system can be used to model

the human circulatory system. if he imagined the Interchange as the lungs then
the passengers would be oxygen and carbon ledee

(a) Based on his imagination, what would the trains represent in the human
circulatory system? Give a reason for your answer. [1]

(b) Stiit based on hTs lmaglnat}on what would the raﬂvvay;epresent in the human
_ cmculatory 'system? Give a reason for your answer. - 1]

30. Paul removed a ring of the bark from a woody stem of a plant as shown in Figure

After a few days, he discovered a swelling just above the ring as shown in Figure
B. : ‘

( —~: Swelling

g

Figure A Figure B

(a) Explain clearly Why there _wa's a swelling just above the ring in the stem as
shown in the Figure B. _ (2]

Score

15



31. The diagram below shows how blood flows from one part of the body to another in
a-human being.. o

Luﬂgsv .

(a) The amount of oxygen in the blood at B and C is higher than that at D.
Draw arrowheads (») along the paths of B, C and D to show the direction
of blood flow. (Arrowhead on A has been done.for you.) [1]

(b) Exptain why the amount of oxygen in the blood at C is higﬁeﬁ"maﬁ‘fiﬁét atD. {2]

—_—

Score

20



~'32. The picture Qel&w shows the various pieces of a jigsaw puzzle.

(a) Ifone ptece of the jigsaw puzzle shown represents a cell; what does~the
whole jigsaw puzzle represent? {1l

(b) What represents the idea that the vanous jigsaw puzzle pieces combme fo
form one picture? : {1]

Score

21



33. Study the classification chart below carefully.

[ Animals

- ye§

2-stage life cycle? > P
no ,
: yes
3-stage life cycle? ——> Q
no
yes
4-stage life cycle? >

(a) Write the lefters P, Q, R and S in the _table below.

Lays egg | Gives birth ]

. J
(b) Give an example of Animal R and Arimal S.

- ~—— " yes
Young _gesemblé?paqf\eﬁg:rgflf-—? R

2]

Animal S:

Score

22



34. Jana owns a pearl necklace as shown. When she bnngs 2-ends of the clasp
c!ose to each other they fasten by themselves.

WIS KA O8 ’4#‘;

ROKCR TP TN AUV S SRR

&

(@) Explain how the clasp can fasten by- themselves when “brought near to each -
other. 2]

(b) One day, onte of the clasps Tell off from the necxldce and Jana hastily fixed it
by put it back. To her dismay, the clasps were not able to fasten by

themselves. Instead, they kept moving away from each other. Explain clearly
why that happened. ' : . [1]

-

Score

" End of Paper

23






EXAM PAPER 2011

SCHOOL : NAN HUA
SUBJECT : PRIMARY 5 SCIENCE

TERM CA2 -
Q1 1 Q2| Q3[04 Q5|06 Q7 | Q8| Q9 [010|Q1i1]|Q12|Q13 Q14 Q15[ Q16 | Q17
3 | 3 4 3 2 1 2 2 3 4 2 3 4 2 3 | 4
Q18 | Q19| Q20
3 1 1
21)a)ACDBE

b)X: clouds Y: water vapour Z: water

22)a)X: penis Y: testes

b)The anther

23)a)The younger the baby, the faster its pulse rate will be.

b)87 beats per minute.

24)a)
I L
m; ................................................... e
thing o ]
Beeathi 3
w"‘g B0 e e
(per 9
minte) 40 -~
PO SR S
20 Jreeememereimmemmeae e
10.3 ..... R PR FEIOS AR ] _.:__. /
0 — ¢ - /
" Roading e book Walidag slong the Watkdog upthe  Radhing onthe -
R i beach stairs K

'! it .

© troadenly

b)As the intensity of the exercise increases, the body requires more oxygen to
produced more enérgy. More carbon dioxide is also produced ad a resuit of this. The
breathing rate has to increase to bring in more oxygen as well as to remove the

increased amount of carbon dioxide produced. Pulse rate increases during exercise in

order to circulate more blood rich in oxygen to other parts of the body as well as to
_ increase the rate of getting rid of carbon dioxide produced during respiration.

Page 1to 3

page 1



25)a)Large intestine.

_ b)Because digestion completes at the small intestine and in the large intestine,
water is taken from the undigested food and into the blood streams. So no digestion
has taken place at the large intestine.

26)a)i)Amount of water ii)Presence of light warmth
_b)Preserve of warmth and moisture is required for germination to take place
“©)i)Amount of water ii)Presence of light

d)Presence of light is not requited for germinated to take place.

27)a)During pollination the pollen grains on the stigma. It goes down the style
through a tube leading to the ovules. When the pollen grains fuses with the ovules, it
becomes a seed and the ovary turns in to a fruit. Then the seed id dispersed to many
different places.

b)It is pollinated by wind. The flower has long pistil and stamen hanging out of
the petals to maximize the exposure of the air of pollen producing anther and polien
collecting stigma.

28)a)large.

b)Heart.

c)System A breads down food into simple substance which is absorb into the
blood stream. System B transport the blood that contain the digested food from
System A to all parts of the body.

29)a)Blood celis. It carries oxygen like the train carrying people.

b)Blood vessles. It enables the blood to flow through the human body like the
railway enabling train to move on it.

30)a)Because when food carrying tube is removed, the plant cannot transport food to
all parts of the plant therefore the food cannot be pass causing a swell at Figure B.

31)a)

b)The blood at C is oxygen rich as it has obtained a fresh supply of oxygen from
the lungs that goes to the heart to be pumped to the rest of the body. However, the
oxygen-in-blood at D is lower than that at C as the oxygen in the blood had been used
up by other parts of the body and is now containing more carbon dioxide which isto
be removed as the blood flow towards the heart then the lungs.
page 2






32)a)Human body.
b)An organism is made up by different kinds of cells.

33)a)laysegg: Q, S, R
Gives birth: P
b)S: Butterfly.

34)a)The clasps are made of magnets. They are arranged such that their unlike poles
face each other when the clasps are hear each other they can fasten the necklace by
attract to each other. :

b)When the clasps fell, one of the magnet may have swith poles, therefore like
poles repel, causing them to keep moving away from each other.

Page 3



